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RO £ 01 ALY &
MENTIREA 2 o
RMEI DS 2 HR0ls 25t (Sl &2)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
SHAPAY & 2,702,377 4,822,406 A2,120,009
=2 345,000
3 450,000
| 80,000
= 1,807,377
MEAXRE SR 2 HPD 1,876,520 3,964,700 ~2,088, 180
= 345,000
3 450,000
| 80,000
= 1,001,520
CIMEDE 2 ¢S BH 682,213 559,019 123,194
= 345,000
| 80,000
= 257,213
Rols HEsts 65,333 70,799 5,466
101 Q1248 17,028 19,866 A2,838
04 JARZRNE 24 17,008 19,866 A2,838
OASH IAH2ZX 2Y 17,028
201 QBr2gy| 5,600 5,600 0
01 At 22| b 5,600 5,600 0
OUANZ U BDE 3,600
ONUBHSSNCHA 2 2,000
204 M4 A Y| 7,800 9,000 A1,200
03 SHY LA 7,800 9,000 A1,200
CIEIEET] 50,0002 * 138 122 7,800
206 T 2 bl 5,000 5,000 0
01 T2l 5,000 5,000 0
oMg 2 g WK 5,000
301 YBHE LS 29,905 31,333 A1,428
10 8 AHALH| 2 & 2,530 3,760 A1,230
ONSBHSSNCK BT U A8t 2,530
12 DBt A2 27,375 27,573 A198
ONBESSNCH 2 27,375
RoiEy o B 22,100 29,440 A7,340
201 QEr2gy| 4,500 4,500 0
02 ZB=2YL| 4,500 4,500 0
OLTE JIN HHELS 42E 7 4,500
202 018 9,000 9,000 0
01 2L 01| 9,000 9,000 0
OMEIHE T2 U 7D 48 9,000
206 T2 bl 4,000 7,000 23,000




DB EAPANY A
D MEHREEE @ PR
D AHMELNSE 2 AR)|s 2435 (A :H2)
B . M. CHe (5 HlE AL Al OH HEE Hl =2+
01 M=l 4,000 7,000 A 3,000
OZERII A2 s2=2H,25 Hola2 2 2,000
O2SMEE & LHI2E2 29 M= 2,000
207 A O] 2,000 3,500 A 1,500
03 Al& & 2H| 2,000 3,500 A 1,500
OdTE AN IJINMN 7 2,000
405 RHekFE S| 2,600 1,000 1,600
01 AL =S FSHI 2,000 0 2,000
O3X & UHIFR BHOII SHE 2,000
02 A2 600 1,000 A400
o7 2 Ns8 &TH 7L 600
I=PEIN 15,780 15,780 0
101 2124 d| 12,780 12,780 0
4 JI2HHZ22NEES 12,780 12,780 0
OXHARSZAHESI}) 5,400
OXNATZTAHBER) 7,380
201 B2 HH| 2,500 2,000 500
01 At 2teltl 2,500 2,000 500
OXAXR AL 2 Q4| 2,500
206 T 2 bl 500 1,000 A500
01 MZl 500 1,000 A500
OAZ MM 25 5 ZAE 500
MENSHA SRAAILE (=) 429,000 143,000 286,000
= 300,000
| 80,000
= 49,000
401 Al HIZL 2 0HYI 429,000 143,000 286,000
= 300,000
J| 80,000
= 49,000
01 A&l 418,000 141,800 276,200
OXEfotd =& 418,000
= 292,308
J| 77,949
= 47,743
02 Zeldl 8,000 0 8,000
OMENGtE =& 8,000
= 5,594
J| 1,492
= 914
03 AI& 21| 3,000 1,200 1,800
OMEiGtE =& 3,000
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_ _ _ Muo
SA-BH.C(BH) - HRAY - B Off &F 04 il i~ o Rz

= 2,098
Il 559
= 343

NATI2EII2 S2F A(21D) 150,000 0 150,000
=2 45,000
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101 01214 76,400 0 76,400
= 22,920
= 53,480

VPIEEESEERS 76,400 0 76,400
OZX 22l 2T, ARBXH 76,400
= 22,920
= 53,480

201 L2 Y| 46,500 0 46,500
= 13,950
= 32,550

01 ALR 2l t] 46,000 0 46,000
OE22 M, SHTYY, =22 46,000
=2 13,800
= 32,200

02 ZZ2Y| 500 0 500
OMAXIS2EII2 &3t 500
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= 350

202 01t 3,100 0 13,100
=2 3,930
= 9,170

01 U0 bl 13,100 0 13,100
OYUBIIAS MARE ZA 13,100
= 3,930
= 9,170

206 T 2 b 4,000 0 4,000
= 1,200
= 2,800

01 T2 bl 4,000 0 4,000
OslHl A& ZE S 7 4,000
= 1,200
= 2,800

207 1K L HI 10,000 0 10,000
= 3,000
= 7,000

03 Al& el | 10,000 0 10,000
OAl% BTl £X5 S 7 10,000
=2 3,000
= 7,000

MENFIE BIOIE2 E4 2 2 1,001,270 3,232,644 ~2,231,374




SN ROIEE A PA A
HE: MRS 2 o
Chel: MERHIE EIDIZ2

= &l EER:E]
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
& 450,000
& 551,270
AAREtE 3 2tel 85,770 79,548 6,222
101 el24d| 45,752 28,530 17,222
04 JIZtHIZ22XNSES 45,752 28,530 17,222
OM= % A& 28,728
ONENY LA 13,832
oOYFRLIUUEEH) 3,192
201 LEt2FH| 6,000 6,000 0
01 At 2teltl 2,000 2,000 0
OAN&E=ZE 2d2c 25 7Y 2,000
02 2324l 4,000 4,000 0
O NEEsS AEBE ¥ 4,000
202 (44l 9,018 9,018 0
01 =2 WA b 9,018 9,018 0
O& &l MEfZR ¥ 2= X #IX0H2 9,018
206 M=l 6,000 6,000 0
01 MHZ 4l 6,000 6,000 0
ONAZHI 2% =37 L M7 6,000
401 A& HIZ 2 CHYI 19,000 30,000 211,000
01 A& HI 19,000 30,000 A 11,000
O=HMclJl ZEHLM L S=3At 19,000
32 B2 43 15,500 15,000 500
201 L EH2FH| 15,500 15,000 500
01 AtR2tel 15,000 10,000 5,000
o2 =3 M 10,000
oJ188 H&H 5,000
03 HAI2ZHI 500 5,000 24,500
OJIEEAH 29 500
AHAEBARZ ALES(ZD) 900,000 900,000 0
= 450,000
L= 450,000
401 Al HIZ 20| 900,000 900,000 0
& 450,000
L= 450,000
01 A& HI 881,000 881,000 0
OHRHAZ ANEE &F 881,000
& 440,500
& 440,500
02 22yl 13,000 13,000 0
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Mo MEITRSEE 2 HPDS
Cel: MEHME HI0S2 =4 2 2t (&9 &)
SA - HB B9 (E) - NRAY - Ba S 0f et o e DS
O RTAIZ AMEE &5 13,000
& 6,500
& 6,500
03 Al 20HH] 6,000 6,000 0
OHRTAZ AIEE &S 6,000
& 3,000
== 3,000
NS 2 193,037 173,037 20,000
AN BE2L 193,037 173,037 20,000
201 L Br2 2| 173,037 173,037 0
01 A2 2telH] 7,000 7,000 0
ONM4& % 2EX 24FHl 2dxt 7,000
02 33&4H| 166,037 166,037 0
O0332= MEEHIRA, XE =X 166,037
405 Xp&tF SHI 20,000 0 20,000
01 A&t =S F =8I 20,000 0 20,000
OM&Il & &x) 20,000
HHSAFH (HSEBADALL) 825,857 857,706 ~31,849
el 2E 769,159 801,188 232,029
SR oAl XA 769,159 801,188 232,029
101 Q1A H| 737,899 768,008 230,109
01 E= 665,651 704,151 /38,500
oJlzs 489,177
OI=1= 451,548
4= 3,988,600 x1E +12& 47,864
-55 3,480,000& x2H 12 83,520
=] 2,836,900 x2& » 12 68,086
-T= 1,766,100& »2H «12& 42,387
-8=2 1,659,000& x1E 123 19,908
-G AL 2,630,500% x4E 12& 126,264
-Jls7s 2,732,000 x1E +12& 32,784
-Jls8s 2,561,200 x 181228 30,735
odza=+¢ 451,548,000 x1/12+100% 37,629
o=¢ 98,692
OtE=d 12,360
-t < X 40,0003 »13& 123 6,240
-RLIE 20,0002 #21H 123 5,040
ey DNIE 30,000 x3E *12& 1,080
OXMHSHI XY 2,702
-=stu 38,9003 x2& »43| 312
-1Sstu 298,700 »2&H *43| 2,390
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-5 0| A ~10 D] BF 50,000& x5H «12& 3,000
ORsRIAxY 29,600,700 *4 . 1%*12& 14,564
OJlsdesd 3,480
-5= 50,000& x2H x12& 1,200
-6~72 30,000& x1H x12& 360
-8~92 20,000& x2H «12& 480
-Jhat = 30,000& »4H «12& 1,440
(@i R = 80,000& x4H x12& 3,840
OAZIIZ24Y 8,078*14H x25A| 2tx12& 33,928
Osd=22dg 60,853 x1H 114 6,938
OEx=XNZ2+Y = X140,0003 * 14 = 12& 6,720
(@FSE3=ENEG] 21,840
OFHZAH| 130,000& *14Y «12& 21,840
OYZE S ItH| 45,155
OYZESIty| 451,548,000 *1/12%60%*23] 45,155
OdH I AHH| 10,787
OdEIIE Al
451,548,000 *1/12x86%*1/30x 10! 10,787
03 RIHAZZXNE 72,248 63,857 8,391
ORJINAHAZZEXE S 72,248
(OPIE=T= 38,000& »3YH x261 29,754
a3 826, 500& *3H *400% 9,918
OR=ssd% 38,000& x3H x52 5,928
ORI 65,0413 x3H 17 3,318
OYZE S| 300,000& *x3H x23| 1,800
O34l 130,000& »3H «12& 4,680
(@INE==}s] 50,000& »3Y¥ «12& 1,800
OAZIIZ24Y
8, 1303 *1.5x3H 20 A| 2tx12& 8,781
OYHAESRHEZ4UEE) 6,269
-HLBE 45,9603 x3H x 12 1,655
-1E8E 47,2403 x3H x 12 1,701
-MIHEE 45,7203 =128 549
-=01H3 65,650 *x3H x12& 2,364
204 M@ 4 AH| 31,260 33, 180 A1,920
02 &z 2 x| 31,260 33,180 A 1,920
(OESF=1= N 31,260
O4= 400,000& x1Hx12& 4,800
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